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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- If only I -------mscemem- more money, I -------------—--- the poor boy.
1) had / could help 2) would have / helped
3) have / help 4) have / would help
77- “What languages ---------------- 22
“I speak English and French.”
1) would you speak 2) you can speak
3) do you speak ' 4) you speak
78-  She has been here for two weeks but she has already made --------==-=---- friends.
1) a little 2) few 3) little 4) a few
79- A lot of people -------=--nmuun during the World War II.
1) were killing 2) were killed 3) had been killed 4) killed
80- When the student solved his problems, he showed them to his teacher, ---------------- ?
1) did they 2) didn't they 3) did he 4) didn't he
81- Maybe he was trying to --------------—- her, but he actually couldn't do anything important about
her problem.
1) protect 2) identify 3) discover 4) require
82- The ancient buildings in our city are an important part of the national ---------------- .
1) influence 2) balance 3) heritage 4) worry

83- Because of the recent flood in my country, which destroyed a lot of cities, I feel a / an --------------
-- to help students who lost their homes.
1) recommendation  2) obligation 3) organization 4) confirmation
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84- The world population is --------------—- at the rate of nearly 90 million people a year.

1) collecting 2) expanding 3) including 4) containing
85- Recently the -----------——- for this product has increased faster than the supply.

1) demand 2) value ' 3) identity 4) design
86- The organization provides ---------------- drinking water to poor countries.

1) immediate 2) effective 3) suitable 4) complete
87- Instead of coming ---------------- home, I took the long way and stopped by post office.

1) honestly 2) really 3) directly 4) absolutely

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Brazilian parents are no different from parents all around the world; they want their children

to have a good education that will (88) ---------------- them well for life. In Brazil, however,
the education system is struggling to provide such an education for many of its fifty million
children. The percentage of children (89) ------=--v-nem-- finishing high school is extremely
small. What's more, those children that do finish have insufficient knowledge in the two basic
areas of language and mathematics. In a study (90) ---------------- children from 65 countries,
Brazilian students came last in reading, mathematics and science.

Now, private companies across Brazil (91) ---------------- hope to:Brazilian students by

setting up schools, many of which provide free education, well-trained teachers and (92) ------
---------- facilities. However, it is still not easy to provide education in all of the communities
in this vast country.

88- 1) prepare 2) amaze 3) prefer 4) depend
89- 1) surprisingly 2) carefully 3) proudly 4) actually
90- 1) imagining 2) respecting 3) comparing 4) generating
91- 1) will offer 2) are offering 3) have been offered  4) offered
92- 1) cultural 2) modern 3) fortunate 4) famous

. . |
| PART C: Reading Comprehension

| Directions: Read the following two passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. !
g ichat Sall i DG T R N it v

PASSAGE 1:
I play the trumpet in my school jazz band. Last month, we held a jazz competition with bands
from local high schools - and our band won!

Each band had their own costumes, ranging from black school uniforms like my band wore,
to brightly-coloured T-shirts. We didn't look much like adult professional bands, but all of us
were used to performing in competitions, so the quality of playing was amazing, especially
considering everyone was so young. Players from each band even created new tunes right there
on stage. It was exciting to watch - but even better when my band played on stage!

We have a great jazz band at my school, but not everyone who wants to play in it gets
accepted-only about half, in fact. But anyone who's keen to play goes to jazz practice before
school, and we often spend time together after school, listening to jazz and learning its language.
There are also trip to jazz summer camps across the country ; I've been to a couple and learnt a lot.

Adults are often surprised that young people are getting interested in jazz. My music
teacher thinks it's because pop music isn't challenging enough for people like me who are
serious about music. But I find it exciting because it's both new and old at the same time - you
can create your own music, but you also feel you're part of its history, as you're playing on
stage in the same way as great jazz performers before you.

My school's really lucky because we have great teachers and parents who've supported us
all the way. Without them, we'd never get anywhere with our music!
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93-

94-

95-

97-

99-

100-

What is Katie trying to do in the text?

1) encourage young people try to listen to more jazz

2) explain how jazz is becoming more popular with young people

3) advertise young people's jazz events in her area

4) give advice on how to create great jazz music

Katie believed the bands in her school's jazz competition ---------------- .

1) played music they'd written themselves before they came

2) had little experience of playing in public

3) played at high level regardless of their age

4) were dressed to look like professional jazz bands

Most people at Katie's school who are interested in ]azz ----------------

1) attend early jazz sessions at school 2) join the school j _]azz band
3) learn about jazz in after-school classes 4) go to jazz summer camps at the school
Katie enjoys playing jazz so much because she ---------------- .

1) finds it easier to learn than other forms of music

2) likes the chance to perform with others on stage

3) thinks it is more serious than pop music

4) feels in touch with jazz players of the past

PASSAGE 2:

People think being an artist must be a wonderful way to earn one’s living. And of course, there
are lots of great things about working for oneself, at home alone, even in a cold studio like
mine. What I really like is that nobody tells me what time to start in the morning. I like to paint
as soon as I wake up, which is always early, but isn't the same time every day. And nobody tells
me what to wear or whether I can take the afternoon off and go to a football match.

But then, I have no one to chat with when I'm bored, no'one to.discuss last night’s match
with during the office lunch hour. Sure, I can spend the afternoon doing something I enjoy
like cycling or gardening if I choose. But the work will still be there when I do finally get
back home.

Unfortunately, working at home means that people can always find me, whether I'm bored
or not, and once I've answered the doorbell, it s too late - my thoughts have been interrupted.
No one would dream of calling/in if 1 worked in an office, but I find myself listening to
friends’ troubles. As they talk, my ideas disappear and I feel increasingly stressed thinking of
my work waiting to be done.

However, when I'hear the traffic news on the radio, and imagine my friends sitting miserably
in their cars in.a jam, feeling bored, or waiting unhappxly for an overcrowded tram in the rain, |
realise that I really haven’t got much to complain about. I find a CD which will start me
thinking, turn it up really loudly and begin another picture.

The writer of this passage tries to ------------=uex .

1) explain why he has changed his job 2) encourage readers to work at home
3) say how he would like to work 4) describe his working life

What does the writer like about his life?

1) He is his own boss. 2) He needn't work in the morning.

3) He has a comfortable place to work. 4) He has plenty of opportunities for sport.
What does the writer imagine he might do with colleagues?

1) have meals in restaurants 2) go to the swimming pool

3) spend time in the countryside 4) talk about sport

The writer plays loud music because ----------=-----

1) it prevents him from feeling bored 2) he dislikes listening to the radio

3) it helps him to have ideas 4) the traffic outside is noisy
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

He is the only player ------------- the team from defeat.

1) who might save  2) that he saves 3) to save 4) saves
Students ------------- until they ------------- the appropriate fee.

1) have not been admitted / have paid 2) are not admitted / will pay

3) will not be admitted / have paid 4) will not be admitted / will pay
------------- gently, the fabric should lost for years.

1) To treat 2) Treated 3) Having treated  4) Treating
------------- willing to accept the increase in coursework.

1) Neither of students are 2) Neither students are

3) None students is 4) None of the students is

How long ------------- living there before the war ------------- ?

1) were you been / had broken out 2) are you / has broken out

3) have you been / broke out 4) had you been / broke out
------------- our offer, we could avoid the costs of a court case.

1) Were you to accept 2) Would you accept

3) Have you accepted 4) Had you accepted

I don't KNOW --=-=v-neenen be able to get permission from my parents.

1) I will whether 2) I whether will 3) whether I'will 4) whether will I
------------- you haven't got these qualification doesn't necessarily mean you won't be able
to enter the university.

1) It's a fact that 2) The fact

3) The fact that 4) The fact is that

My sister won't give up her present job. I'd just as soon she ------------- .

1) does 2) did 3) will 4) would
| you as soon as I ---—-==--—-—--- with the report.

1) will call / have-finished 2) will call / will finish

3) call / finish 4) have called / will finish

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111-

112-

113-

114-

115-

A number of major charities are ------------- their efforts to send out food to the areas
worst affected by the famine.

1) dominating 2) commenting 3) excluding 4) coordinating
According to the Government ------------- , a number of deputies are worried about the
current issue.

1) policies 2) structures 3) sources 4) contexts

Seals and polar bears can live in the ------------—- cold of the North Pole.

1) deficient 2) extreme 3) exact 4) ineffective
Middle-income families cannot pay ------------- high monthly interest charges.

1) absurdly 2) culturally 3) fashionably 4) intensely

Oddly enough, she didn't ————— anything to us about the fact that she was getting married.
1) abolish 2) extend 3) hesitate 4) mention
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116- A chameleon is a kind of lizard known for its ------------- to change hue.
1) magnitude 2) disorder 3) ability 4) patience
117- The dying man's speech was s -----------=" that no one was able to interpret his last
request.
1) impotent 2) nonchalant 3) indiscreet 4) incoherent
118- Has your sister ------------- decided that she will go to England? - Yes, she is determined
to go.
1) comfortably 2) identically 3) definitely 4) similarly
119- Even today a man who stays at home to look after the children is ------------- as
something of an oddity.
1) regarded 2) integrated 3) resumed 4) preserved
120- Our house was in a terrible ------------- when we were having the central heating put in.
1) device 2) mess 3) tradition 4) regulation
121- You and the person with whom you share an apartment must be -----------—- .
1) notorious 2) compatible 3) skilful 4) equivalent
122- Being too busy all the time, the secretary doesn't ------------- stop working to have lunch.
1) normally 2) ultimately 3) variously 4) hardly
123- The institute ------------- all its money from foreign investments.
1) exports 2) creates 3) derives 4) responds
124- These automatic cameras have a special focusing ------------- ]
1) output 2) profession 3) mechanism 4) implementation
125- There is still no ------------- research that supports Darwin's theory.
1) valid 2) minor 3) various 4) initial

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then

mark the correct choice on your answer sheet.

126-

127-

128-

129-

1) I know what you mean. Not he's only arrogant but he's also misinformed.

2) I know what do you mean. Not-only he's arrogant but also misinformed.

3) I know what do you mean. He's not only arrogant but he is misinformed also.
4) 1 know what you mean. He's not only arrogant but also misinformed.

1) I have the same record at home. Would you like borrowing of me?
2) I have the same record home. Would you like to borrowing of mine?
3) I have the same record at home. Would you like to borrow me?

4) T have the same record home. Would you like borrow mine?

1) It took me three hours to complete my assignment.

2) Three hours took me to be completed my assignment.

3) Three hours it took me that completing my assignment.

4) Tt took for me three hours that be completed my assignment.

1) I might have done better my speech if I have had more time.
2) I could do better my speech if I had had more time for it.

3) I could have done better my speech if I had had more time.
4) I might do better if I have had more time for my speech.
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130-

1) That's one of my prettiest dress I'm wearing.

2) That's my prettiest dress as I have that I'm wearing.

3) That's the most pretty dress as I have that I always wear.

4) That's one of my most pretty dress I have and always wear.

PART D: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-

132-

133-

134-

135-

136-

137-

138-

139-

140-

A: You can't believe who I -------—-—-—- last week!

B: Whe?

1) came about 2) ran into 3) got ahead 4) caught on
A: Can I -------nmmm- you to repair my car by six?

B: Of course.

1) turn up 2) rely on 3) bring up 4) lead on
A: Can you come with me to London?

B: No, I have to --------——-- all the work I missed whlle I was ill.

1) look up 2) put off 3) try out 4) make up
A: T really like your flat. It's very spacious.

B: Oh, -----—--eeem- ! You're just saying that!

1) call off 2) give up 3) go.on 4) stick to

Y e , what time is it?

B: It's about 1:30.

1) I'm afraid 2) Go ahead 3) All right 4) By the time
A: Would you mind if I went tothe university?

B: il

1) Don't Worry 2) Not at all

3) No trouble 4) Don't mention it

A: Want to come to the beach with me if it doesn't rain?

B: - . It's'very hot out and I burn easily.

1) No, I don't think so 2) I'd guess to

3) That's in the way 4) Yes, I'd love to

A: Do you listen to weather forecast?

B: Yeah, she says that we are --------—---- a sever snowstorm.

1) few and far between 2) in the light of

3) in for 4) all in

A: I feel very bad.

B: - e and don't look down. The rescue party are climbing up the cliff to save us.
1) Make no mistake about 2) Chance your arm

3) Push your luck 4) Keep you head

A: Do you exercise in the evenings?

B: No, I do my exercise ----------—- , before I have my breakfast.

1) first thing 2) in the offing 3) on the ball 4) in the bag
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PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Successful wildlife watching tourism requires sound plans as the basis for managing
the watched populations and their habitats. Because of the uncertainties (141) ----------
with understanding the effects of wildlife watching on animals, and keeping in mind
the (142) -------------- nature of tourism, it is particularly important to use "adaptive
management" approaches for managing wildlife watching tourism. Adaptive
management requires plans and objectives for wildlife and tourism, in combination
(143) ---------m---- continuous monitoring and evaluation of tourism and its effects on
wildlife, to check that the objectives (144) -------------- in the plans are being met. If
they are not being met, management actions are adjusted as necessary (145) ------------
wildlife watching tourism into line with the planned objectives.

Effective (146) -------------- of plans often requires the interaction of different
stakeholders, particularly tourism businesses and local communities and wildlife
managers. A good understanding of stakeholder roles is necessary (147) --------------
wildlife watching tourism is to (148) -------------- in ways that result in high quality
tourism, effective conservation and (149) -------------- local community benefits.
Participatory approaches to planning wildlife watching tourism are being used
(150) --------==---- ; successful examples of stakeholder participation (151) --------------
the adoption of a voluntary code of conduct for whale watching in Peninsula Valdes,
and the establishment of no-fishing (152) -------------- and dive sites as part of the
overall zoning of Bunaken National Marine Park.

(153) -—--mmmeemee- is used to check whether targets are being met or not.
Management actions are adjusted and (154) =---=--------- to achieve these targets in
future. This adaptive management approach enables (155) -------------- improvement to
be made in management actions for conservation, tourism and community benefits -
based on lessons learned from day-to-day management experience.

141- 1) that they associated 2) which they associate
3) associated 4) associating
142- 1) dynamic 2) obvious 3) complex 4) exact
143- 1) for 2) on 3) with 4) to
144- 1) stayed 2) counted 3) called 4) set
145- 1) bringing 2) to bring 3) bring 4) that bring /
146- 1) foundation 2) implementation  3) estimation 4) inspiration
147- 1) if 2) for . 3) so 4) as \
148- 1) conform 2) supply 3) release 4) operate
149- 1) available 2) probable 3) tangible 4) individual
150- 1) abruptly 2) likely 3) widely 4) merely
151- 1) vary 2) assume 3) obtain 4) include
152- 1) concepts 2) zones 3) aspects 4) choices
153- 1) Monitoring 2) That monitoring 3) Monitor 4) That monitors
154- 1) improved 2) removed 3) imitated 4) expelled
155- 1) different 2) precarious 3) evitable 4) continuous
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PART F: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:
The composer Wolfgang Amadeus Mozart's remarkable musical talent was apparent

even before most children can sing a simple nursery rhyme. Wolfgang's older sister
Maria Anna (who the family called Nannerl) was learning the clavier, an early
keyboard instrument, when her three-year-old brother took an interest in playing. As
Nannerl later recalled; Wolfgang often spent much time at the clavier picking out
thirds, which he was always striking, and his pleasure showed that it sounded good."
Their father Leopold, an assistant concertmaster at the Salzburg Court, recognized his
children's unique gifts and soon devoted himself to their musical education.

Bomn in Salzburg, Austria, on January 27, 1756, Wolfgang had composed his first
original work by age five. Leopold planned to take Nannerl and Wolfgang on tour to play
before the European courts. Their first venture was to nearby Munich where the children
played for Maximillian III Joseph, elector of Bavaria. Leopold soon set his sights on the
capital of the Hapsburg Empire, Vienna. On their way to Vienna, the family stopped in
Linz, where Wolfgang gave his first public concert. By this time,"Wolfgang was not only
a virtuoso harpsichord player, but he had also mastered the violin. The audience at Linz
was stunned by the six-year-old, and word of his genius soon traveled to Vienna. In a
much anticipated concert, the Mozart children appeared at the Schonbrunn Palace on
October 13, 1762. They utterly charmed the emperor and empress.

Following this success, Leopold was inundated with invitations for the children to
play, for a fee. Leopold seized the opportunity and booked as many concerts as
possible at courts throughout Europe. A< concert could last three hours, and the
children played at least two per a day. Today, Leopold might be considered the worst
kind of stage parent, but at the time, it was not uncommon for prodigies to make
extensive concert tours. Even so, it was an exhausting schedule for a child who was
just past the age of needing an afternoon nap.

156- A good title for this passage would be -------------- R
1) Stage Parents: A Historical Perspective
2) Mozart: The Early Life of a Musical Prodigy
3) Mozart: The Short Career of a Musical Genius
4) Classical Music in the Eighteen Century: An Overview

157- According to the passage, Wolfgang became interested in music because -------------- i
1) he had a natural talent
2) he came from a musical family
3) his father thought it would be profitable
4) he saw his sister learning to play an instrument

158- What was the consequence of Wolfgang's first public appearance?

1) Leopold set his sights on Vienna.
2) Word of Wolfgang's genius spread to the capital.
3) He charmed the emperor and empress of Hapsburg.
4) Invitations for the miracle children to play poured in.
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159-

160-

161-

162-

163-

164-

165-

Each of the following statement about Wolfgang Mozart is directly supported by
passage EXCEPT --------n-nmn-
1) Maria Anna was a talented musician in her own right
2) Mozart's father, Leopold, was instrumental in shaping his career
3) Wolfgang preferred the violin to other instruments
4) Wolfgang's childhood was devoted to his musical career
Based on information found in the passage, Mozart can best be described as -------------- :
1) the greatest imposer of the 18" century 2) a victim of his father's ambition
3) a workaholic 4) a child prodigy

PASSAGE 2: s

Plague is a disease carried by animals, primarily by rodents, and by people. It was
widespread in Europe, where in the 1300s, 25 million people died and raging
epidemics spread as late as the latter part of the seventeenth century. Once people
became aware of the fact that plague was spread by rats that carried the epidemic on
ships from one port to another, rodent extermination put an end to the devastating
plagues in the world. In the United States, plague occurred in epidemic strength in San
Francisco in 1900. Intensive rat control measures were employed immediately, but
squirrels in the area had been infected and had to be destroyed too. Descendants of
these rodents continue the infection and have transmitted it to other,fodents such as
prairie dogs in the western and southwestern parts of the United States. The plague is
endemic to those areas that are sparsely populated. Therehave been scattered cases of
plague since 1900, but not serious outbreaks.

You can infer from the passage that there were no farther-raging plague epidemics -------—--- 1
1) in Europe 2)-after the 1300s

3) in San Francisco 4).after the 17™ century

The western and southwestern parts of the United States --------------

1) still have serious outbreaks of plague

2) are the habitat of infected rodents

3) have large populations

4) are sparsely populated because of the plague

Plague is spread by ---------==--- .

1) rats 2) ships

3) rodents and people 4) prairie dogs and squirrels
Raging epidemics ended in Europe when --------------

1) rats were exterminated 2) 25 m11110n people had died

3) ships were not allowed in foreign ports 4) populations moved out of the big cities
You can infer that in the late 1300s -------------- ’

1) intensive rat control measures were applied 2) people were accustomed to the plague
3) Europe's population was very small 4) people were extremely poor

PASSAGE 3:

Being able to land safely is a critically important skill for all flying animals. Whereas
terrestrial animals face no particular challenge when they need to stop running or
crawling, flying animals move at much higher speeds, and they must be careful about
how they land. Hitting the ground, or even water, at full flight speed would be quite
dangerous. Before touching down, they must decrease their speed in order to land
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166-

safely. Both bats and birds have mastered the skill of landing, but these two types of
flyers go about it quite differently.

In the past it was believed that, in terms of flying mechanics, there was little
difference between bats and birds. This belief was based only on assumption, however,
because for years nobody had actually studied in graphic detail how bats move their
wings. In recent years, though, researchers have discovered a number of interesting
facts about bat flight. Bats are built differently from birds, and their wings incorporate
both their front and hind limbs. This makes coordinating their limbs more difficult for
bats and, as a result, they are not very good at flying over longer distances. However,
they are much better at maneuverability: a bat can quickly change its direction of flight
or completely reverse if, something a bird cannot easily do.

Another interesting characteristic of bat flight is the way in which bats land—
upside down! Unlike birds, which touch down on the ground or on tree branches, bats
can be observed flying around and then suddenly hanging upside down from an object
overhead. How do they do it? A group of researchers recently used video cameras to
film bats landing on nets suspended from the ceiling of their laboratory and studied the
recordings in slow motion. They painted spots on the bats' wings to see in detail what
happens to the wings in flight and during touchdown. It turns out that the bats flew in a
straight line up to the net and then quickly flipped over and attached themselves to it
upside down. One downside to this landing routine is that the bats often slam into their
landing spot with some force, which probably causes pain. However, not all bats hit
their landing spots with the same speed and force; these will vary depending on the
area where a bat species makes its home. For example, a cave bat, which regularly
perches on a hard stone ceiling, is more careful-about its landing preparation than a bat
more accustomed to landing in leafy treetops.

The main topic of the passage is --+------—-—

1) differences in the eating habits of bats and birds
2) ways in which bats move differently from birds
3) places where flying animals choose to land

4) why scientists have difficulty observing bats
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167- In line 2, the word "terrestrial" is closest in meaning to -------------- .
1) ground -living 2) tree-climbing 3) fast-moving 4) high-flying

168- The crucial skill for flying animals is -------------- n
1) balancing on high branches 2) flying over great distances
3) diving underwater 4) slowing down to land

169- The advantage of bats over birds is -------------- .
1) can turn in the air more quickly 2) can land on a greater variety of surfaces
3) can eat while flying 4) are lighter

170- According to the passage, what helps determine a bat's landing speed?
1) What it eats. 2) Where it lives.
3) How old it is. 4) How big it is.
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